Yok 3 201439 E ALY 54

a2 B e B

1. gheb 1) (377 =9

3

2.5
2) y= o

n
>

log2 < 0.3011

6

) .5
=243, (2.5°)? =2.5° = ¥> 244 3% <958

log3 < 0.4772 0] ©L & |

logy > 3—6<0.3011—2.5<0.4772=0.0004 > $H> 1

3% <9258

2. Bet) logEs &
2.4
Y 32.4

logy = 3log2.4—2.4log3 = 0.6log3 +9log2 — 3

log2 < 0.301] log3 < 0.4772 O] 2.2

0.6log3+9log2 < (0.6)(0.4772)+9(0.3011) = 0.28632+ 2.7099 = 2.99622 < 3

Slogy <0,y<1o|E=E 3% > 9243

©er2) AvAus

A4 A

logy = 3log2.5 — 2.5log3 = 3(1—2log2) — 2.5log3 = 3 — 6log2 — 2.5l0g3

2.43\" 924  504857.3--- o4 3
( i ) — o — TN <1 o3 >24
1
3 fla)== Inf(zx)=—Inx
, — e z—(Inz) « 1 1.
FAg oo o) wpapn, Lo 1T g 10
f(fﬂ) x x T

T

>0 olB= T S

2
x

T 0<z<e ©F

K

flz)>0 °|BE f(z)E 718t

»

b]

rz>e ©H

A

fx)<0 Oo|BZ f(r)¥ AT




1 o | | |
5. fl@)=a", lnf(x)zln% 11m%=—oo oj= = limf(x)=0°]t}. hmlnTx:OO]Ei lim f(z)=1 ©] T},
0" z—0" z—>00 2—>00
ofF BE 3olM 2AE @) 9 S AEAA y=s@) 9 1T AFE Teinw ol Lk,
y i
1
1 e g
L. 1 1
bb =q° 0]?:]_ (bb)ab:(aa)ab, ba_ab O]q_
WA, o =ot ol el z#al GO AF 2t
0<a<1H+ a=e ¥ W= EAA Z3, 1<a<eFEE a>eo|H 17§ EA3}




VFA L 014FIE A FY 3

A
A A a2 e B B, o
2a +1
P :2+i ojmLg, {i}% =t 2, A izg 0] Zx}2=od o]t}
Ap+1 a, a, ay, a;
w2} A] a_n*3+(” 12=2n+1 ©]iL {q,}9] Lutare 4 2n1+1 o]t}

o], lima, =0=a °|EZ ot {q,}9 FEakolTh

n—00

v +1 b, +1
b =2013L, b, b, =5 b, = g =1 > 00 22, Qleje] no] da] b, & FrolTh,

((5,)& ATl 291 ZAs otk Hiz ()& o BAAF T HE Q17)
geby g=—1& 59 ()9 Fagtol ol

whala] o] Ao WhHo| Ak A

2. (1) (F odAM A P, 2425 A 429 F)
=& 0 <A @ P, o
Lq‘ﬂ'}‘i x71+1:‘r +yn
(0 M %

f
1N
al
¥,
ol
o,
i
lo,
al
+
2

Q
K-
>
X
QO
(0]
N
N

225 e d=e 5)

n+1
—(4 0 A %ﬁ P o & 5 Qe AR F)x2 +(H 0N A @ 0F 4 5 Uk AR
T,L}ﬂ—/ﬂ yn+1:2$n+yn

(2) yn+ \/5‘%71223:”71_'—:%1,71_'— \/E(xnfl—i_ynfl)
= (1+ ﬁ)(yn*l _I_ \/gxnfl)
=1+ V2l (y,_, + V22, ,)

(2)°] Hsj

(DA 5 #AAA A n=1,2,3, - F /o &L YA y, + 22, =01+V2)" 4 F8F F
At

olF 84 AdHoRE FHstA WA n=1 ¥

A o,y +V2r, =142 olRE Y.
oAl n=k & W AHIaL 7HAH e,
1L+ V2 =1+ v2) 0+ V2 ) =0+ V2)(y, + V2z,)
:yk+ﬂxkr+\/—yk+2xk:_ykr+2xk +V2( p ) = yk+1+\/5xk+1
ojBnRE p=k+1 ¥ W AJH3

~VEo, =(1-V2) E Be Wyow 24

]_

Olt
ON

<.




3.

Yo+ V22, =1+V2)", y,—V2z,=1—+2) & AYste] =W
__ 1 n _ oy

yn—2\/§(ﬂ(1+¢5> +v2(1-v2)")
_L n__(1_ n

x,,,,—Qﬁ((Hx/i) (1—v2)")

o - V2 (1 +v2) +-v2)")
° d {z o] dnkdre . =

1+(1_ \/5)"\

lim, = lim VUV OZ DIy, ol V2L (150

n—>00 " n—oo (1+ \/5)71_(1_ \/5)71 n—o0 1_(1_ \/5)” 1-0
o1V )

4 x1:y1:17 xn+1:$n,+yn’ y71+1:5x"+y" O]{‘q— '5‘]—X]'
=& 2, 39 g FAdGd ARl 8, 4 {i—}% Vo E FERE
wepd 5 ol gre Doy Loy By, BT B I gy
xl 1"2 1‘3 1"4 3 ‘,1:5 5

l-va



